

A NOTE ON THE TYPE 2 POLY-APOSTOL-BERNOULLI POLYNOMIALS

JONGKYUM KWON¹ AND LEE-CHAE JANG^{2,*}

ABSTRACT. Recently, Kim-Kim ([6]) have studied the type2 poly-Bernoulli polynomials by using the polylogarithm functions. In this paper, we define the type 2 poly-Apostol-Bernoulli polynomials and investigate some properties for them. Furthermore, by making use of unipoly function, we define the type 2 unipoly-Apostol-Bernoulli numbers and show some basic properties for them.

1. Introduction

It is well known that the Bernoulli polynomials of order α are defined by

$$\left(\frac{t}{e^t - 1}\right)^\alpha e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x) \frac{t^n}{n!}, \quad (\text{see [1, 2, 3, 4, 14] }). \quad (1.1)$$

We note that for $\alpha = 1$, $B_n(x) = B_n^{(1)}(x)$ are the ordinary Bernoulli polynomials. When $x = 0$, $B_n^\alpha = B_n^\alpha(0)$ are called the Bernoulli numbers of order α .

He-Araci-Srivastava-Acikgoz ([4]) introduced the Apostol Bernoulli polynomials $B_{n,\lambda}(x)$ as follows:

$$\frac{t}{\lambda e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [1, 2, 3, 4, 15, 16] }), \quad (1.2)$$

where $|t| < 2\pi$ if $\lambda = 1$ and $|t + \log \lambda| < 2\pi$ if $\lambda \neq 0$. When $x = 0$, $B_{n,\lambda} = B_{n,\lambda}(0)$ are the Apostol Bernoulli numbers. Kim-Kim ([6]) introduced the type 2 poly-Bernoulli polynomials which are given by

$$\frac{e_k(\log(1+t))}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} \beta_n^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see [6, 9] }), \quad (1.3)$$

where $e_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}$ is the polyexponential function, as an inverse to the polylogarithm function $Li_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}$, ($|x| < 1$). When $x = 0$, $\beta_n^{(k)} = \beta_n^{(k)}(0)$ are called the type 2 poly-Bernoulli numbers. Note that $\beta_n^{(1)}(x) = B_n(x)$, ($n \geq 0$)

2010 *Mathematics Subject Classification.* 11B83, 11S80.

Key words and phrases. polylogarithm function, poly-Bernoulli polynomials, type 2 poly-Bernoulli polynomials, Apostol Bernoulli polynomials, type 2 poly-Apostol-Bernoulli polynomials.

are the ordinary Bernoulli polynomials. For $n \geq 0$, the Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_1(n, l)x^l, \quad (\text{see [11, 12, 13] }), \quad (1.4)$$

where $(x)_0 = 1$, $(x)_n = x(x-1)\dots(x-n+1)$, ($n \geq 1$). From (1.3), it is easily to see that

$$\frac{1}{k!}(\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad (\text{see [11, 12, 13] }). \quad (1.5)$$

For $n \geq 0$, the the Stirling numbers of the second kind are defined by

$$x^n = \sum_{l=0}^n S_2(n, l)(x)_l, \quad (\text{see [11, 12, 13] }). \quad (1.6)$$

From (1.6), it is easily to see that

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (\text{see [11, 12, 13] }). \quad (1.7)$$

In this paper, we define the type 2 poly-Apostol-Bernoulli polynomials which are modified type 2 poly-Bernoulli polynomials and investigate some properties for them. Furthermore, by making use of type 2 unipoly-Bernoulli numbers, we define the type 2 unipoly-Apostol-Bernoulli numbers and show some basic properties for them.

2. The type 2 poly-Apostol-Bernoulli polynomials

For $k \in \mathbb{Z}$, we consider the polyexponential function defined by Kim-Kim ([6]), as an inverse to the polylogarithm function, which is given by

$$e_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}, \quad (\text{see [5, 6, 7, 8, 10] }). \quad (2.1)$$

In the viewpoint of (1.3), we define the type 2 poly-Apostol-Bernoulli polynomials by

$$\frac{e_k(\log(1+t))}{\lambda e^t - 1} e^{xt} = \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}. \quad (2.2)$$

When $x = 0$, $\beta_{n,\lambda}^{(k)} = \beta_{n,\lambda}^{(k)}(0)$ are called the type 2 poly-Apostol-Bernoulli numbers. From (2.2) and (1.2), we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(1)}(x) \frac{t^n}{n!} &= \frac{e_1(\log(1+t))}{\lambda e^t - 1} e^{xt} \\ &= \frac{t}{\lambda e^t - 1} e^{xt} \end{aligned}$$

$$= \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}, \tag{2.3}$$

where $|t| < 2\pi$ when $\lambda = 1$ and $|t + \log \lambda| < 2\pi$. From (2.3), we get

$$\beta_{n,\lambda}^{(1)}(x) = B_{n,\lambda}(x), \quad (n \geq 0) \tag{2.4}$$

are the Apostol Bernoulli polynomials. From (2.2), we observe that

$$\begin{aligned} & \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(k)} \frac{t^n}{n!} \\ &= \frac{e_k(\log(1+t))}{\lambda e^t - 1} \\ &= \frac{1}{\lambda e^t - 1} \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{(m-1)! m^k} \\ &= \frac{1}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{(\log(1+t))^{m+1}}{m!(m+1)^k} \\ &= \frac{1}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k-1}} \sum_{l=m+1}^{\infty} S_1(l, m+1) \frac{t^l}{l!} \\ &= \frac{t}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k-1}} \sum_{l=m}^{\infty} \frac{S_1(l+1, m+1)}{l+1} \frac{t^l}{l!} \\ &= \left(\sum_{j=0}^{\infty} B_{j,\lambda} \frac{t^j}{j!} \right) \sum_{l=0}^{\infty} \left(\sum_{m=0}^l \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} \right) \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} B_{n-l,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.5}$$

Therefore, by (2.5), we obtain the following theorem.

Theorem 2.1. For $k \in \mathbb{Z}$, $n \geq 0$, and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have

$$\beta_{n,\lambda}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} B_{n-l,\lambda}. \tag{2.6}$$

Corollary 2.2. For $k \in \mathbb{Z}$, $n \geq 0$, and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have

$$\beta_{n,\lambda}^{(1)} = B_{n,\lambda} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{S_1(l+1, m+1)}{l+1} B_{n-l,\lambda}. \tag{2.7}$$

Moreover,

$$\sum_{l=1}^n \sum_{m=0}^l \binom{n}{l} \frac{S_1(l+1, m+1)}{l+1} B_{n-l,\lambda} = 0. \tag{2.8}$$

Let $k \geq 1$ be an integer. For $s \in \mathbb{C}$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we define the function

$$\eta_{k,\lambda}(s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt. \tag{2.9}$$

From (2.9), we note that if we take $k = 1$ and $\lambda = 1$, then we get

$$\begin{aligned} \eta_{1,1}(s) &= \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{e^t - 1} e_1(\log(1+t)) dt \\ &= \frac{s}{s\Gamma(s)} \int_0^\infty \frac{t^s}{e^t - 1} dt \\ &= \frac{s}{\Gamma(s+1)} \int_0^\infty \frac{t^s}{e^t - 1} dt \\ &= s\zeta(s+1), \end{aligned} \tag{2.10}$$

where $\zeta(s) = \sum_{n=1}^\infty \frac{1}{n^s}$ is the Riemann zeta function.

We see from (2.9) that $\eta_{k,\lambda}(s)$ is holomorphic for $Re(s) > 0$, since $e_k(\log(1+t)) \leq e_1(\log(1+t))$ for $t \geq 0$. From (2.9), we note that for $\lambda \in \mathbb{R}(\lambda \neq 0)$,

$$\begin{aligned} \eta_{k,\lambda}(s) &= \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt \\ &= \frac{1}{\Gamma(s)} \int_0^1 \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt \\ &\quad + \frac{1}{\Gamma(s)} \int_1^\infty \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt. \end{aligned} \tag{2.11}$$

The second integral in (2.11) converges absolutely for any $s \in \mathbb{C}$ and hence the right hand side vanishes at non-positive integers. That is,

$$\lim_{s \rightarrow -m} \left| \frac{1}{\Gamma(s)} \int_1^\infty \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt \right| \leq \frac{1}{\Gamma(-m)} M = 0. \tag{2.12}$$

On the other hand, for $Re(s) > 0$, the first integral in (2.11) can be written as

$$\begin{aligned} &\frac{1}{\Gamma(s)} \int_0^1 \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt \\ &= \frac{1}{\Gamma(s)} \sum_{l=0}^\infty \beta_{l,\lambda}^{(k)} \int_0^1 \frac{t^{l+s-1}}{l!} dt \\ &= \frac{1}{\Gamma(s)} \sum_{l=0}^\infty \beta_{l,\lambda}^{(k)} \frac{1}{s+l} \frac{1}{l!} \end{aligned} \tag{2.13}$$

which defines an entire function of s . Thus, we can conclude that $\eta_{k,\lambda}(s)$ can be continued to an entire function of s . From (2.11) and (2.13), we get

$$\begin{aligned}
 \eta_{k,\lambda}(-m) &= \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \int_0^1 \frac{t^{s-1}}{\lambda e^t - 1} e_k(\log(1+t)) dt \\
 &= \frac{1}{\Gamma(s)} \sum_{l=0}^{\infty} \beta_{l,\lambda}^{(k)} \int_0^1 \frac{t^{t+s-1}}{l!} dt \\
 &= \frac{1}{\Gamma(s)} \sum_{l=0}^{\infty} \beta_{l,\lambda}^{(k)} \frac{1}{s+l} \frac{1}{l!} \\
 &= \dots + 0 + \dots + 0 + \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \frac{1}{s+m} \frac{\beta_{m,\lambda}^{(k)}}{m!} + 0 + \dots \\
 &= \lim_{s \rightarrow -m} \frac{\left(\frac{\Gamma(1-s)\sin\pi s}{\pi}\right) \beta_{m,\lambda}^{(k)}}{s+m} \frac{1}{m!} \\
 &= \Gamma(1+m) \cos(\pi m) \frac{\beta_{m,\lambda}^{(k)}}{m!} \\
 &= (-1)^m \beta_{m,\lambda}^{(k)}. \tag{2.14}
 \end{aligned}$$

Therefore, by (2.14), we obtain the following theorem.

Theorem 2.3. *Let $k \geq 1$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, $m \in \mathbb{N}$, we have*

$$\eta_{k,\lambda}(-m) = (-1)^m \beta_{m,\lambda}^{(k)}. \tag{2.15}$$

In [6], it is well known that for $k \geq 2$,

$$\frac{d}{dx} e_k(x) = \frac{1}{x} e_{k-1}(x), \tag{2.16}$$

and

$$e_k(x) = \int_0^x \underbrace{\frac{1}{t} \int_0^t \frac{1}{t} \dots \int_0^t \frac{1}{t}}_{(k-2)\text{times}} (e^t - 1) dt dt \dots dt. \tag{2.17}$$

From (2.17), we obtain the following equation.

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(k)} \frac{x^n}{n!} \\
 &= \frac{1}{\lambda e^x - 1} e_k(\log(1+x)) \\
 &= \frac{1}{\lambda e^x - 1} \int_0^x \frac{1}{\log(1+t)} e_{k-1}(\log(1+t)) dt \\
 &= \frac{1}{\lambda e^x - 1} \int_0^x \frac{1}{(1+t)\log(1+t)} \\
 & \quad \underbrace{\int_0^t \frac{1}{(1+t)\log(1+t)} \cdots \int_0^t \frac{t}{(1+t)\log(1+t)} dt dt \cdots dt}_{(k-2)\text{times}}, \quad (k \geq 2). \quad (2.18)
 \end{aligned}$$

Thus, (2.18), we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(2)} \frac{x^n}{n!} &= \frac{1}{\lambda e^x - 1} \int_0^x \frac{1}{(1+t)\log(1+t)} dt \\
 &= \frac{1}{\lambda e^x - 1} \sum_{l=0}^{\infty} \frac{B_l^{(l)}}{l!} \int_0^x t^l dt \\
 &= \frac{x}{\lambda e^x - 1} \sum_{l=0}^{\infty} \frac{B_l^{(l)}}{l+1} \frac{x^l}{l!} \\
 &= \left(\sum_{m=0}^{\infty} B_{m,\lambda} \frac{x^m}{m!} \right) \left(\sum_{l=0}^{\infty} \frac{B_l^{(l)}}{l+1} \frac{x^l}{l!} \right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} \frac{B_l^{(l)}}{l+1} B_{n-l,\lambda} \right) \frac{x^n}{n!}. \quad (2.19)
 \end{aligned}$$

Therefore, (2.19), we obtain the following theorem.

Theorem 2.4. *Let $n \geq 0$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have*

$$\beta_{n,\lambda}^{(2)} = \sum_{l=0}^n \binom{n}{l} \frac{B_l^{(l)}}{l+1} B_{n-l,\lambda}. \quad (2.20)$$

3. The type 2 unipoly-Apostol-Bernoulli polynomials

Let p be any arithmetic function. That is, it is a real or complex valued function defined on the set of positive integer \mathbb{N} . Then we define the unipoly function attached to p by

$$u_k(x|p) = \sum_{n=1}^{\infty} \frac{p(n)}{n^k}, \quad (k \in \mathbb{Z}). \quad (3.1)$$

It is well known that

$$u_k(x|1) = \sum_{n=1}^{\infty} \frac{x^n}{n^k} = Li_k(x) \tag{3.2}$$

is ordinary polylogarithm function, and for $k \geq 2$,

$$\frac{d}{dx}u_k(x|p) = \frac{1}{x}u_{k-1}(x|p), \tag{3.3}$$

and

$$u_k(x|p) = \int_0^x \underbrace{\frac{1}{t} \int_0^t \frac{1}{t} \cdots \int_0^t \frac{1}{t}}_{(k-2)\text{times}} u_1(t|p) dt dt \cdots dt \tag{3.4}$$

Kim-Kim ([6]) introduced the type 2 unipoly-Bernoulli numbers attached to p defined by

$$\frac{1}{e^t - 1}u_k(\log(1 + t)|p) = \sum_{n=0}^{\infty} \beta_{n,p}^{(k)} \frac{t^n}{n!}. \tag{3.5}$$

In the viewpoint of (3.5), we define the type 2 unipoly-Apostol-Bernoulli numbers as follows:

$$\frac{1}{\lambda e^t - 1}u_k(\log(1 + t)|p) = \sum_{n=0}^{\infty} \beta_{n,\lambda,p}^{(k)} \frac{t^n}{n!}. \tag{3.6}$$

Let us take $p(n) = \frac{1}{\Gamma(n)}$. Then we have

$$\begin{aligned} \sum_{n=0}^{\infty} \beta_{n,\lambda,p}^{(k)} \frac{t^n}{n!} &= \frac{1}{\lambda e^t - 1}u_k\left(\log(1 + t)\middle|\frac{1}{\Gamma}\right) \\ &= \frac{1}{\lambda e^t - 1} \sum_{m=1}^{\infty} \frac{(\log(1 + t))^m}{m^k(m - 1)!} \\ &= \frac{1}{\lambda e^t - 1}e_k(\log(1 + t)) \\ &= \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(k)} \frac{t^n}{n!}. \end{aligned} \tag{3.7}$$

Thus, by (3.7), we get

$$\beta_{n,\lambda,p}^{(k)} = \beta_{n,\lambda}^{(k)}. \tag{3.8}$$

From (??), we have

$$\begin{aligned}
& \sum_{n=0}^{\infty} \beta_{n,\lambda,p}^{(k)} \frac{t^n}{n!} \\
&= \frac{1}{\lambda e^t - 1} \sum_{m=1}^{\infty} \frac{p(m)}{m^k} (\log(1+t))^m \\
&= \frac{1}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+!)^k} \sum_{l=m+1}^{\infty} S_1(l, m+1) \frac{t^l}{l!} \\
&= \frac{1}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+!)^k} \sum_{l=m}^{\infty} S_1(l+1, m+1) \frac{t^{l+1}}{(l+1)!} \\
&= \frac{t}{\lambda e^t - 1} \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+1)^k} \sum_{l=m}^{\infty} S_1(l+1, m+1) \frac{t^l}{(l+1)!} \\
&= \left(\sum_{j=0}^{\infty} B_{n-l,\lambda} \frac{t^j}{j!} \right) \sum_{l=0}^{\infty} \left(\sum_{m=0}^l \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k (l+1)} \right) \frac{t^l}{l!} \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k (l+1)} B_{n-l,\lambda} \right) \frac{t^n}{n!}. \quad (3.9)
\end{aligned}$$

Therefore, by comparing the coefficients on both sides of (3.9), we obtain the following theorem.

Theorem 3.1. *Let $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have*

$$\beta_{n,\lambda,p}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k (l+1)} B_{n-l,\lambda}. \quad (3.10)$$

In particular,

$$\beta_{n,\lambda,\frac{1}{\Gamma}}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{B_{n-l,\lambda}}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1}. \quad (3.11)$$

Finally, we also define the type 2 unipoly-Apostol-Bernoulli polynomials attached to p as follows:

$$\frac{1}{\lambda e^t - 1} u_k(\log(1+t)|p) e^{xt} = \sum_{n=0}^{\infty} \beta_{n,\lambda,p}^{(k)}(x) \frac{t^n}{n!}. \quad (3.12)$$

From (3.8) and (3.12), we observe that

$$\begin{aligned} & \frac{1}{\lambda e^t - 1} u_k(\log(1+t)|p) e^{xt} \\ &= \left(\sum_{l=0}^{\infty} \beta_{l,\lambda,p}^{(k)} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} x^m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} \beta_{l,\lambda,p}^{(k)} x^{n-l} \right) \frac{t^n}{n!}. \end{aligned} \tag{3.13}$$

From (3.12) and (3.13), we get the following theorem.

Theorem 3.2. *Let $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have*

$$\begin{aligned} \beta_{n,\lambda,p}^{(k)} &= \sum_{l=0}^n \binom{n}{l} \beta_{l,\lambda,p}^{(k)} x^{n-l} \\ &= \sum_{l=0}^n \binom{n}{l} \beta_{n-l,\lambda,p}^{(k)} x^l. \end{aligned} \tag{3.14}$$

In particular, for $\lambda \neq 1$, we get

$$\beta_{0,\lambda,p}^{(k)}(x) = 0. \tag{3.15}$$

From (3.14), we note that

$$\begin{aligned} \frac{d}{dx} \beta_{n,\lambda,p}^{(k)}(x) &= \sum_{l=1}^n \binom{n}{l} \beta_{n-l,\lambda,p}^{(k)} l x^{l-1} \\ &= n \sum_{l=0}^{n-1} \binom{n-1}{l-1} B_{n-1-l,\lambda,p}^{(k)}(x) x^l \\ &= n \beta_{n-1,\lambda,p}^{(k)}(x). \end{aligned} \tag{3.16}$$

From (3.16), we obtain the following theorem.

Theorem 3.3. *Let $n \in \mathbb{N}$, $k \in \mathbb{Z}$ and $\lambda \in \mathbb{R}(\lambda \neq 0)$, we have*

$$\frac{d}{dx} \beta_{n,\lambda,p}^{(k)} = n \beta_{n-1,\lambda,p}^{(k)}(x). \tag{3.17}$$

References

1. A. Bayad, T. Kim, *Higher recurrences for Apostol-Bernoulli-Euler numbers*, Russ. J. Math. Phys. **19**(1),(2012), 1-10.
2. A. Bayad, J. Chikhim, *Non linear recurrences for Apostol-Bernoulli-Euler numbers of higher order*, Adv. Stud. Contemp. Math.(Kyungshang) **22**(1),(2012), 1-1-6.
3. M. A. Boutiche, L. Kargin, M. Rahmani, *Some remarks on the generalized Apostol-Bernoulli and Apostol-Euler polynomials*, Indian J. Pure Appl. Math.**50**(4),(2019), 1133-1145.
4. Y. He, S. Araci, H. Srivastava, M. Acikgoz, *Some new identities for the Apostol-Bernoulli polynomials and the Apostol-Genocchi polynomials*, Appl. Math. Comput. **262**,(2015), 31-41.

5. D.S. Kim, T. Kim, *A note on degenerate Eulerian numbers and polynomials*, Adv. Stud. Contemp. Math.(Kyungshang) **27(4)**,(2017), 431-440.
6. D. S. Kim, T. Kim, *A note on polyexponential and unipoly functions*, Russ. J. Math. Phys. **26(1)**,(2019), 40-49.
7. T. Kim, D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys. **24(2)**,(2017), 241-248.
8. T. Kim, D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM **113(3)**,(2019), 2783-2791.
9. T. Kim, D. S. Kim, L.C. Jang, H.Y. Kim, *On type 2 degenerate Bernoulli and Euler polynomials of complex variable*, Adv. Difference Equ. **490**,(2019), 15pp.
10. T. Kim, D. S. Kim, *A note on central Bell numbers and polynomials*, Russ. J.Math.Phys. **27(1)**,(2020), 76-81.
11. T. Kim, G.-W. Jang, *A note on degenerate gamma function and degenerate Stirling number of the second kind*, Adv. Stud. Contemp. Math. (Kyungshang) **28(2)**,(2018), 207-214.
12. T. Kim, *λ -analogue of Stirling numbers of the first kind*, Adv. Stud. Contemp. Math. (Kyungshang) **27(3)**,(2017), 423-429.
13. T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc. **20(3)**,(2017), 319-331.
14. T. Kim, S.-H. Rim, Y. Simsek, D. Kim, *On the analogs of Bernoulli and Euler numbers, related identities and zeta and L -functions*, J. Korean Math. Soc. **45(2)**,(2008), 435-453.
15. G.-W. Jang, H.-I. Kwon, T. Kim, *A note on degenerate Apostol-Bernoulli numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **27(2)**,(2017), 279-288.
16. I. Kucukoglu, Y. Simsek, *Remarks of recurrence formulas for the Apostol-type numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **28(4)**,(2018), 643-657.

¹ DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, 52828, REPUBLIC OF KOREA
E-mail address: mathkjk26@gnu.ac.kr

² GRADUATE SCHOOL OF EDUCATION, KONKUK UNIVERSITY, SEOUL, 05029, REPUBLIC OF KOREA, *CORRESPONDING AUTHOR
E-mail address: Lcjang@konkuk.ac.kr